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Fig. A.1: Output of Sensor A at ball-drop calibration. m = 0.130g, h = 30 mm
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Fig. A.1: (continued)
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Fig. A.1: (continued)
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Fig. A.1: (continued)



Erax = 8.4529V
At = 7.70 usec.
F =77.5971N

Epnax = 8.0635V
At = T7.75 usec.
F =77.0964N

Erax = 8.5576V
At = 7.80 usec.
F =176.6022N

Epnax = 8.3319V
At = 7.50 usec.
F =179.6663N
Epax = 8.0655V
At = 7.80 usec.
F =176.6022N

Fig. A.2: Output of Sensor A at ball-drop calibration. m = 0.440g, h = 30 mm
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Fig. A.3: Output of Sensor A at ball-drop calibration. m = 0.440g, h = 80 mm
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Fig. A.4: Output of Sensor A at ball-drop calibration. m = 0.440g, h = 150 mm
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Fig. A.5: Output of Sensor B at ball-drop calibration
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Fig. A.7: Output of Sensor C at ball-drop calibration. m = 0.130g, h = 30 mm
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Frnax = 0.6268 V
At = 24.30 psec.
F =10.2595N

Epnax = 0.3761V
At = 23.20 usec.
F =10.7520N

Frax = 0.6407V
At = 23.45 usec.
F =10.6858N

Enax = 0.6135V
At = 23.05 usec.
F =10.8589N

Erax = 0.6477V
At = 24.60 usec.
F =10.1401N

Fig. A.8: Output of Sensor C at ball-drop calibration. m = 0.130g, h = 80 mm
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Enax = 0.4801V
At = 40.70 usec.
F =5.9931N
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Erax = 0.8532V
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F =14.8051N
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Fig. A.9: Output of Sensor C at ball-drop calibration. m = 0.440g, h = 30 mm
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Erax = 1.7310V
At = 30.15 usec.
F =30.1502N

Eax = 14920V
At = 39.05 usec.
F =23.0084N

Frax = 15547V
At = 31.10 psec.
F =29.1830N

Enax = 1.6906 V
At = 30.25 usec.
F =30.0347N

Frax = 17071V
At = 30.70 usec.
F =29.6570N

Fig. A.10: Output of Sensor C at ball-drop calibration.
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Fig. A.10: (continued)
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Fig. A.11: Output of Sensor C at ball-drop calibration. m = 2.030g, h = 30 mm
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Fig. A.11: (continued)
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Fig. A.12: Output of Sensor C at ball-drop calibration. m = 2.030g, h = 80 mm
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Fig. A.12: (continued)



